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r E =
2R =2 7](cm)
TET —()%%)k A2 | A 713l T73
(Hel) (%)
AAL 7] AR |1 T 2A (4.3)
AAZ] AR 1 | EX | 24| (20
LS DA 1 |EX| x4 3.4
w7} A E 1 |EX=| x4 | (86)
ull 2} %) 1 B | A 55
=7 74 1 |EX | &4 (4.2)
71 ¢} 1 | EX | =4 (39.0) 16.2
Z=7) 9} 1 | ES| 24| (329 143
7] ¢} 1 |BEX | &4 (30.5) 11.5
71 9} 1 |BEE | &4 (14.4) 10.2
4712 1 | Ex=| 24| (224) 20.7
712k 1 | Ex=| =4 | (155) 16.5
o}7) 9} 1 | EX | x4 (19)
4712 1 | EX| 24| (173 285
o}7] ¢} 1 |BEE | &4 (255) 26.5
Wl 2} o} 1 | B2 | =4 4.3 129
w7} 9} 1 |EX| x4 48
LIPANESS 1 | B2 | =4 5.4 10.0
w2} £ A 1 |BEE | &4 (3.7
Wl 7} £ 1 | BEx| 24| 45
w2} A A 1 |EX| x4 | (31)
w2} A 1 | BE=| 24| (35)
LA 1 |[E= | &4 | (B4
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F 5 5 =
) . 7z F 3 7](cm) )
dHAHS = —(%o) A4 | Ao Vi :rL7§ 373 AP S H] 31
(4do]) (&) (FA)
35 w2} AT 1 T 2A (3.8) 56 1-2 25 AEA
36 2L A 1 | BEx | =4 (6.8) 55 1-2 25 AEXA
37 2} A 1 | Ex | =4 (3.7) 5.4 1-2 25 AEXA
38 7] 9} 1 | B2 | =4 45.0 176 2.2 1-5 2% AEXA
39 =7 9} 1 | Ex | =4 46.4 17.2 2.7 1-5 25 AEXA
40 579} 1 |EX | =4 435 175 2.9 1-5 25 AEA
41 7] 9} 1 | BEx | =4 43.0 186 2.6 1-5 2% AEXA
42 5=7) 9} 1 | B2 | =4 46.0 16.1 2.4 1-5 2% AEXA
43 =7 9} 1 | Ex | =4 43.0 15.3 1.6 1-5 25 AEXA
44 o} 7] 9} 1 |EX | =4 40.4 28.2 2.8 1-6 25 AEA
45 o}7] 9} 1 | BEx | =4 432 28.0 2.7 1-6 2% AEXA
46 o}7] 9} 1 | BEx | =4 41.8 22.0 2.2 1-6 2% AEA
47 719k 1 |EX | 24| (455) 27.4 2.0 1-6 25 AEXA
48 o}7] 9} 1 |EX | 24| (2492 214 25 1-6 25 AEA
49 o+7] o} 1 | Ex | 24| (202 2.2 1-7 25 AEA
50 719 1 | EX | 24| (142 2.4 1-7 AAAA
51 7)< 1 |EE | 24| (2.0 2.7 1-7 A A
=
52 o 5 1, ) 32 0.7 2-1 ANFEFH
12l
24
53 o) & 1, ZA 33 0.7 2-1 ANEFHF
2
=
> EX 487  48%
A 53 534 %4 59 54







